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Which country signed but did not ratify the Kyoto Protocol?

(O Canada

O China

O United States v’
O India

The United States signed the Kyoto Protocol but did not ratify it, citing concerns over economic impacts
and the exclusion of developing countries from binding emissions targets.

Which of the following gases is NOT covered by the Kyoto Protocol?

(O Carbon dioxide (CO2)
O Methane (CH4)

(O Ozone (03) v

O Sulfur hexafluoride (SF6)

The Kyoto Protocol primarily addresses six greenhouse gases: carbon dioxide, methane, nitrous oxide,
hydrofluorocarbons, perfluorocarbons, and sulfur hexafluoride. Gases such as ozone and water vapor
are not included in the protocol's regulations.

How did the Kyoto Protocol influence subsequent international climate agreements, such as the
Paris Agreement?

/7

The Kyoto Protocol set a precedent for international climate agreements by establishing binding
targets and flexibility mechanisms. It highlighted the need for broader participation and more
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flexible approaches, influencing the Paris Agreement's focus on voluntary national commitments
and inclusivity.

Evaluate the effectiveness of the Kyoto Protocol in reducing global greenhouse gas emissions.

The effectiveness of the Kyoto Protocol is debated. While it succeeded in establishing a
framework for emission reductions and raising awareness, its impact was limited by non-
participation from major emitters and challenges in compliance. The protocol laid the
groundwork for future agreements but fell short of significantly reducing global emissions.

What is the name of the mechanism that allows industrialized countries to invest in emission
reduction projects in developing countries?

(O Joint Implementation

O Clean Development Mechanism v’

(O Emissions Trading

(O Carbon Capture and Storage

The mechanism that allows industrialized countries to invest in emission reduction projects in developing
countries is known as the Clean Development Mechanism (CDMs). This initiative is part of the Kyoto
Protocol and aims to promote sustainable development while reducing greenhouse gas emissions.

Which amendment extended the Kyoto Protocol to 2020?

O Paris Amendment
O Doha Amendment v
O Kyoto Amendment
O Montreal Amendment

The amendment that extended the Kyoto Protocol to 2020 is known as the Doha Amendment. It was
adopted in 2012 during the 18th Conference of the Parties (COP18) to the UNFCCC.

Which of the following countries withdrew from the Kyoto Protocol in 2011?
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O Japan

O Russia

QO Canada v
O Australia

In 2011, Canada officially withdrew from the Kyoto Protocol, citing economic concerns and the need for a
more flexible approach to climate change. This decision was part of a broader trend of skepticism
towards international climate agreements among some countries.

Explain the primary goal of the Kyoto Protocol and how it aims to achieve it.

/7

The primary goal of the Kyoto Protocol is to reduce greenhouse gas emissions to combat climate
change. It aims to achieve this by setting binding emission reduction targets for developed
countries and introducing flexibility mechanisms like emissions trading, the Clean Development
Mechanism, and Joint Implementation.

What were some of the challenges faced in enforcing compliance with the Kyoto Protocol?

VZ

Challenges in enforcing compliance included the lack of participation by major emitters like the
United States, the complexity of monitoring and verifying emissions, and limited consequences
for non-compliance, which undermined the protocol's effectiveness.

Discuss the significance of the Clean Development Mechanism and its impact on developing
countries.
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/

The Clean Development Mechanism (CDN) allows developed countries to invest in emission
reduction projects in developing countries, earning credits for their efforts. This mechanism
helps transfer technology and investment to developing countries, promoting sustainable
development and reducing emissions globally.

Describe the role of developed countries in the Kyoto Protocol and why they were given binding
targets.

/

DevelopED countries were given binding targets under the Kyoto Protocol because they are
historically responsible for the majority of greenhouse gas emissions. Their role is to lead global
efforts in reducing emissions and support developing countries through financial and
technological means.

What were the outcomes of the Kyoto Protocol's first commitment period? (Select all that apply)

(_] Significant global emission reductions

(] Some countries exceeded their targets v/
(J Introduction of new climate policies v’

() Universal compliance by all parties

The Kyoto Protocol's first commitment period (2008-2012) resulted in a reduction of greenhouse gas

emissions by participating countries, but overall global emissions continued to rise. Some countries met
their targets while others did not, highlighting the challenges of international climate agreements.

What are some criticisms of the Kyoto Protocol? (Select all that apply)

(J Lack of participation by major emitters v’
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(1) High economic costs for developing countries
(3 Ineffective compliance mechanisms v’
(] Overly ambitious emission targets

The Kyoto Protocol has faced criticism for its lack of binding commitments for developing countries, its
limited effectiveness in reducing global emissions, and the economic burden it places on developed
nations.

Which countries had binding targets under the Kyoto Protocol? (Select all that apply)

(U] DevelopING countries

(] DevelopED countries v’
(] Least developed countries
(O Industrialized countries v’

The Kyoto Protocol established binding targets for developed countries to reduce greenhouse gas
emissions, including countries like the United States, Canada, Japan, and members of the European
Union. These targets were part of international efforts to combat climate change.

What was the overall emission reduction target set for the first commitment period of the Kyoto
Protocol?

O 2.5%
O52% v
O 10%
O 15%

The Kyoto Protocol aimed for an overall emission reduction target of 5.2% below 1990 levels for the first
commitment period from 2008 to 2012.

Which of the following are flexibility mechanisms under the Kyoto Protocol? (Select all that apply)

(J International Emissions Trading v’
(] Carbon Taxation
(7] Clean Development Mechanism v’
(J Joint Implementation v/
The flexibility mechanisms under the Kyoto Protocol include emissions trading, the Clean Development

Mechanism (CDMs), and Joint Implementation (JI). These mechanisms allow countries to meet their
greenhouse gas reduction targets more efficiently and cost-effectively.
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What are the implications of the Doha Amendment? (Select all that apply)

(J Extension of the Kyoto Protocol to 2020 v/

(J Introduction of new emission reduction targets v’

(1) Inclusion of more countries with binding targets

(] Replacement of the Kyoto Protocol with the Paris Agreement

The Doha Amendment primarily aims to enhance the financial commitments of developed countries to
support climate change mitigation and adaptation efforts in developing nations, while also promoting
greater accountability and transparency in climate finance.

What is the primary objective of the Kyoto Protocol?

(O To promote economic growth

O To reduce greenhouse gas emissions v’
(O To enhance international trade

(O To protect endangered species

The Kyoto Protocol aims to reduce greenhouse gas emissions globally, with a focus on developed
countries committing to specific targets. It represents a significant step in international efforts to combat
climate change.

Which greenhouse gases are covered by the Kyoto Protocol? (Select all that apply)

(0 Carbon dioxide (CO2) v’
(J Methane (CH4) v
(J Nitrous oxide (N20) v’
(1) Ozone (03)
The Kyoto Protocol covers six greenhouse gases: carbon dioxide (CO2), methane (CH4), nitrous oxide

(N20), hydrofluorocarbons (HFCs), perfluorocarbons (PFCs), and sulfur hexafluoride (SF6). These
gases are targeted for reduction to combat climate change.

In which year did the Kyoto Protocol enter into force?

O 1997
O 2000
O 2005 v
O 2010
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The Kyoto Protocol, an international treaty aimed at reducing greenhouse gas emissions, officially
entered into force on February 16, 2005. This marked a significant step in global efforts to combat
climate change.
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